Notice for appointment of Regular / Rural Retail Outlet Dealerships

BPCL proposes to appoint Retail Outlet dealers in Telangana (State), as per following details:

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC / SC CC 1 / SC PH / ST /ST CC 1 / ST PH /OBC /OBC CC 1 /OBC PH /OPEN /OPEN CC 1 /OPEN CC 2 /OPEN PH	CC / DC / CFS	Frontage	Depth	Area	for	Estimated fund required for developmen t of infrastructur e at RO (Rs in Lakhs)	Draw of Lots / Bidding		
1	METRO PILLAR NO. A 942 ON MUMBAI HIGHWAY TO BORABANDA BUS STAND VIA ASHOK MARG ON EITHER SIDE	HYDERABAD	REGULAR	340	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2	PARADISE X ROAD TO DIAMOND POINT X ROAD ON SIKH ROAD (EITHER SIDE)	HYDERABAD	REGULAR	200	OPEN	сс	20	20	400	32	12	Bidding	30	5
3	JUBILEE HILLS	HYDERABAD	REGULAR	290	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
4	SRINAGAR COLONY ON SRINAGAR COLONY MAIN ROAD ON EITHER SIDE	HYDERABAD	REGULAR	270	OPEN	СС	20	20	400	32	12	Bidding	30	5
5	GUDIMALKAPUR	HYDERABAD	REGULAR	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
6	KAVADIGUDA	HYDERABAD	REGULAR	250	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
7	MEHDIPATNAM TO ASIF NAGAR ROAD (UPTO MALLEPALLI JUNCTION) ON EITHER SIDE	HYDERABAD	REGULAR	290	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
8	ON EITHER SIDE OF BARKATPURA ROAD BETWEEN BARKATPURA X ROAD AND KACHIGUDA ROAD	HYDERABAD	REGULAR	200	OPEN	сс	20	20	400	32	12	Bidding	30	5
9	MAREDPALLY (EAST & WEST)	HYDERABAD	REGULAR	250	OPEN PH	DC	20	20	400	32	75	Draw of Lots	15	5
10	MEHDIPATNAM TO LANGAR HOUZ ON GOLCONDA FORT ROAD ON EITHER SIDE	HYDERABAD	REGULAR	320	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
11	ABIDS-KOTI-NAMPALLY	HYDERABAD	REGULAR	200	OPEN	сс	20	20	400	32	12	Bidding	30	5
12	AMEERPET TO JUBLEE HILLS VIA YUSUFGUDA ON EITHER SIDE	HYDERABAD	REGULAR	400	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
13	BANJARA HILLS	HYDERABAD	REGULAR	350	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
14	SEETHAFALMANDI (NEAR OSMANIA UNIVERSITY)	HYDERABAD	REGULAR	400	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
15	FROM ISKCON TEMPLE ON SP ROAD TO PUNJAGUTTA ON EITHER SIDE	HYDERABAD	REGULAR	250	OPEN	сс	20	20	400	32	12	Bidding	30	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area c	Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
16	NALGONDA X ROAD TO SAIDABAD ROAD ON EITHER SIDE	HYDERABAD	REGULAR	300	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
17	SATYAM THEATRE CIRCLE TO FATEH NAGAR FLYOVER, BALKAMPET MAIN ROAD (ON EITHER SIDE)	HYDERABAD	REGULAR	190	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
18	AMEERPET TO SANATHNAGAR ON MUMBAI HIGHWAY (ON EITHER SIDE)	HYDERABAD	REGULAR	300	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
19	KOTI TO SECUNDERABAD VIA MUSHEERABAD ON LHS	HYDERABAD	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
20	OSMANIA UNIVERSITY TO LIBERTY CROSS ROADS, HIMAYATNAGAR (VIA NARAYANGUDA) ON EITHER SIDE	HYDERABAD	REGULAR	250	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
21	AFZALGANJ TO BAHADURPURA ON EITHER SIDE	HYDERABAD	REGULAR	160	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
22	PADMARAO NAGAR, SECUNDERABAD	HYDERABAD	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
23	DOODHBOWLI ROAD, KABUTARKHANA	HYDERABAD	REGULAR	170	OBC	СС	20	20	400	32	12	Bidding	30	4
24	CHILKALGUDA CIRCLE TO RTC CROSS ROADS ON LHS	HYDERABAD	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
25	SHAIKPET TO ALIJAPUR VIA 7 TOMBS ROAD ON EITHER SIDE	HYDERABAD	REGULAR	300	OPEN	СС	20	20	400	32	12	Bidding	30	5
26	ON LHS FROM CHANDRAYANGUTTA X ROAD TO ARAMGHAR X ROAD	HYDERABAD	REGULAR	200	OPEN	СС	20	20	400	32	12	Bidding	30	5
27	FROM CHANDRAYANAGUTTA TO BALAPUR RCI ROAD VIA BARKAS-SALALA ROAD ON EITHER SIDE	HYDERABAD	REGULAR	150	OBC	сс	20	20	400	32	12	Bidding	30	4
28	JIYAGUDA, FROM PURANAPUL TO GUDIMALKAPUR ON SANT SRI KESHAVA SWAMY MARG ON EITHER SIDE	HYDERABAD	REGULAR	170	ОВС	СС	20	20	400	32	12	Bidding	30	4
29	FROM LAKDI KA PUL TO MASAB TANK ON EITHER SIDE	HYDERABAD	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
30	GADWAL TOWN WITHIN MUNICIPAL LIMITS (NOT ON NH/SH)	JOGULAMBA GADWAL	REGULAR	110	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
31	WITHIN IEEJA MUNICIPAL LIMITS ON RAICHUR-KURNOOL ROAD ON EITHER SIDE	JOGULAMBA GADWAL	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
32	RANGAPUR TO KODANDAPUR ON RHS OF NH 44	JOGULAMBA GADWAL	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
33	SHANTHINAGAR VILLAGE LIMITS ON SH-49	JOGULAMBA GADWAL	REGULAR	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
34	MAHBUBNAGAR TOWN WITHIN MUNICIPAL LIMITS (NOT ON NH/SH)	MAHBUBNAGAR	REGULAR	140	OPEN	СС	25	25	625	32	12	Bidding	30	5
35	BETWEEN KM STONE 69 TO 75 ON RHS OF NH44	MAHBUBNAGAR	REGULAR	180	OPEN	сс	35	35	1225	32	12	Bidding	30	5
36	JADCHERLA TO BHUTHPUR ON RHS OF NH44	MAHBUBNAGAR	REGULAR	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio f site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
37	DEVARKADRA TO LALKOTA X ROAD ON NH 167 ON EITHER SIDE	MAHBUBNAGAR	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
38	MOHAMMADABAD TO CHINNADARPALLY ON NH 167N ON EITHER SIDE	MAHBUBNAGAR	REGULAR	155	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
39	JADCHERLA TO SHREE SWAMINARAYAN GURUKUL INTERNATIONAL SCHOOL ON SH21 ON EITHER SIDE	MAHBUBNAGAR	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
40	MAHBUBNAGAR TO JADCHERLA ON NH 167 EITHER SIDE	MAHBUBNAGAR	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
41	JADCHERLA TO GANGAPUR ON NH 167 ON EITHER SIDE	MAHBUBNAGAR	REGULAR	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
42	MAHABUBNAGAR TO RTA OFFICE ON NH 167 ON EITHER SIDE	MAHBUBNAGAR	REGULAR	160	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
43	MOOSAPET	MEDCHAL MALKAJGIRI	REGULAR	223	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
44	BALANAGAR X ROAD TO KUKATPALLY Y-JUNCTION ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	250	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
45	MIYAPUR CROSS ROAD TO BACHUPALLY ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	180	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
46	UPPAL X ROAD TO NAGOLE ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	250	OPEN PH	DC	20	20	400	32	75	Draw of Lots	15	5
47	KOMPALLY TO GUNDLAPOCHAMPALLY ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
48	DOOLAPALLY X ROAD TO MACHA BOLLARAM RAILWAY STATION ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	160	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
49	HABSIGUDA X ROAD TO MALLAPUR ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	180	OPEN	СС	20	20	400	32	12	Bidding	30	5
50	KOMPALLY TO MEDCHAL ON EITHER SIDE (WITHIN ORR)	MEDCHAL MALKAJGIRI	REGULAR	170	OPEN	СС	30	30	900	32	12	Bidding	30	5
51	BODUPPAL TO CHILKANAGAR ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
52	GANDIMAISAMMA X ROAD TO MEDCHAL CHECK POST VIA DUNDIGAL POLICE STATION ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	150	OBC CC 1	DC	20	20	400	32	75	Draw of Lots	15	4
53	ORR TO YELLAMPET ON NH 44 ON RHS	MEDCHAL MALKAJGIRI	REGULAR	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
54	AS RAO NAGAR	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
55	YAPRAL TO SAINIKPURI ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	170	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
56	YAPRAL TO HAKEEMPET ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	170	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
57	NAGOLE X ROAD TO KAMANENI HOSPITAL ON LHS	MEDCHAL MALKAJGIRI	REGULAR	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio f site (in S		l	be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
58	NAGOLE X ROAD TO KAMANENI HOSPITAL ON RHS	MEDCHAL MALKAJGIRI	REGULAR	220	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
59	VIVEKANANDA NAGAR, KUKATPALLI	MEDCHAL MALKAJGIRI	REGULAR	170	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
60	MIYAPUR X ROAD TO KUKATPALLY Y JUNCTION ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
61	NAGARAM TO GHATKESAR ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
62	ECIL X ROAD TO NAGARAM JUNCTION ON LHS	MEDCHAL MALKAJGIRI	REGULAR	170	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
63	SUCHITRA JUNCTION TO ALWAL ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	190	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
64	BALANAGAR METRO STATION VIA IDL ACCESS ROAD TO KPHB-HITECH ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	190	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
65	SAFILGUDA TO MAULA ALI ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
66	PARVATHAPURAM TO PRATAP SINGARAM ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
67	MALKAJGIRI	MEDCHAL MALKAJGIRI	REGULAR	160	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
68	JEEDIMETLA X ROAD TO GANDIMAISAMMA X ROAD ON MEDAK HIGHWAY ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
69	FROM BOWENPALLY POLICE STATION TO KOMPALLY ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	190	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
70	MALKAJGIRI TO NEREDMET X ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	170	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
71	HABSIGUDA-UPPAL-RAMANTHAPUR	MEDCHAL MALKAJGIRI	REGULAR	170	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
72	NAGARAM X ROAD TO DAMMAIGUDA X ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	СС	20	20	400	32	12	Bidding	30	5
73	JEEDIMETLA X ROAD TO BALANAGAR X ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	160	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
74	CHERLAPALLY TO RAMPALLY	MEDCHAL MALKAJGIRI	REGULAR	190	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
75	ALLWYN COLONY ROAD, KUKATPALLY	MEDCHAL MALKAJGIRI	REGULAR	170	OPEN	СС	20	20	400	32	12	Bidding	30	5
76	IDA CHERLAPALLY	MEDCHAL MALKAJGIRI	REGULAR	170	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
77	IOC LPG TERMINAL TO CHENGICHERLA X ON WARANGAL ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
78	ECIL X ROAD TO NEREDMET X ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	160	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio f site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
79	USHA MULLAPUDI ARCH TO JEEDIMETLA VIA GAJULARAMARAM ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN CC 2	DC	20	20	400	32	75	Draw of Lots	15	5
80	KUKATPALLY HOUSING BOARD(KPHB)	MEDCHAL MALKAJGIRI	REGULAR	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
81	ANKURA HOSPITAL ON KPHB MAIN ROAD TO JNTU VIA NEXUS MALL ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	170	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
82	SHIVAREDDYGUDA X ROAD TO NFC COLONY X ROAD ON GHATKESAR MAIN ROAD ON EITHER SIDE (NOT ON SH/NH)	MEDCHAL MALKAJGIRI	REGULAR	140	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
83	NIZAMPET - MIYAPUR ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
84	NIZAMPET TO BACHUPALLY ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
85	ALWAL	MEDCHAL MALKAJGIRI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
86	MALLAPUR X ROAD TO IOCL LPG PLANT ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
87	TSIIC COMPLEX TO CHILKANAGAR X ROAD ON CHILKANAGAR MAIN ROAD ON LHS	MEDCHAL MALKAJGIRI	REGULAR	170	OPEN	СС	20	20	400	32	12	Bidding	30	5
88	BODDUPPAL MUNICIPLE OFFICE TO CHENGICHERLA ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
89	MAULA ALI TO NFC ROAD (ON HB COLONY MAIN ROAD) ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	160	OPEN	СС	20	20	400	32	12	Bidding	30	5
90	BORABANDA	MEDCHAL MALKAJGIRI	REGULAR	180	OPEN	СС	20	20	400	32	12	Bidding	30	5
91	LAL BAZAAR JUNCTION TO SUCHITRA ROAD(DAIRY FARM ROAD) ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	190	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
92	LALAPET TO ECIL X ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	190	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
93	DAMMAIGUDA JUNCTION TO BALAJINAGAR ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
94	THUMKUNTA VILLAGE TO KANDLAKOIYA GATE ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	170	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
95	LAL BAZAR X ROAD TO LOTHUKUNTA ON LHS OF KARIMNAGAR ROAD	MEDCHAL MALKAJGIRI	REGULAR	220	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
96	UPPAL TO GHATKESAR ON WARANGAL HIGHWAY ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	200	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
97	FROM DOLAPALLY X ROAD JUNCTION AT MEDAK ROAD TO DOLAPALLY ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	190	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
98	JEEDIMETLA	MEDCHAL MALKAJGIRI	REGULAR	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
99	FROM NEXUS MALL ON KPHB 9TH PHASE ROAD TO MIYAPUR VIA SRILA PARK PRIDE ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio f site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
100	FROM ORR EXIT TO ALIABAD X ROAD ON SH1 RHS	MEDCHAL MALKAJGIRI	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
101	ON EITHER SIDE OF NH 167 FROM KALWAKURTHY TO URKONDA	NAGARKURNOOL	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
102	NAGARKARNOOL TOWN, WITHIN MUNICIPAL LIMITS (NOT ON NH/SH)	NAGARKURNOOL	REGULAR	130	OBC	DC	25	25	625	32	55	Draw of Lots	15	4
103	ON EITHER SIDE OF NH 765 FROM KOTRA JUNCTION TO JAYAPRAKASH NAGAR FLYOVER	NAGARKURNOOL	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
104	ON EITHER SIDE OF NH 167 FROM KONDAREDDIPALLY TO CHARAKONDA	NAGARKURNOOL	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
105	KOLLAPUR TOWN WITHIN KOLLAPUR MUNICIPAL LIMITS (NOT ON NH/SH)	NAGARKURNOOL	REGULAR	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
106	FROM BIJENPALLI CIRCLE TO MANGANUR ON EITHER SIDE OF SH 20	NAGARKURNOOL	REGULAR	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
107	MANTHATTI CROSS ROAD TO ACHAMPET ON SH 20 EITHER SIDE OF ROAD	NAGARKURNOOL	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
108	NARAYANPET TO KOLLAMPALLE ON SH22 ON EITHER SIDE	NARAYANPET	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
109	KOSGI MUNICPAL LIMITS (NOT ON NH/SH)	NARAYANPET	REGULAR	100	OBC	DC	25	25	625	32	55	Draw of Lots	15	4
110	MAGANUR TO MARIKAL ON NH 167 ON EITHER SIDE	NARAYANPET	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
111	NADARGUL TO GURRAMGUDA ON EITHER SIDE	RANGA REDDY	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
112	FROM SAROJINI NAIDU NAGAR CHECK POST TO GACHIBOWLI-MIYAPUR RD VIA CYBER TOWER JUNCTION	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
113	CHEVELLA TO MOINABAD ON EITHER SIDE OF NH-163	RANGA REDDY	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
114	ALLWYN CROSS ROAD TO BHEL ON MUMBAI HIGHWAY ON EITHER SIDE	RANGA REDDY	REGULAR	250	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
115	METRO PILLAR NO 115 TO PILLAR NO 230 ON SHAMSHABAD ROAD ON RHS	RANGA REDDY	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
116	APPA JUNCTION TO MOINABAD ON LHS OF NH-163	RANGA REDDY	REGULAR	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
117	KOKAPET CIRCLE TO KHANAPUR ON EITHER SIDE	RANGA REDDY	REGULAR	100	OBC	DC	25	25	625	32	55	Draw of Lots	15	4
118	HAFEEZPET TO MANJIRA PIPELINE ROAD ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
119	WIPRO CIRCLE TO GOPANPALLY ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
120	WIPRO X ROAD TO ORR ON EITHER SIDE (NOT ON ORR SERVICE ROAD)	RANGA REDDY	REGULAR	250	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
121	KONDAPUR TO GACHIBOWLI JUNCTION ON GACHIBOWLI MIYAPUR ROAD ON RHS	RANGA REDDY	REGULAR	250	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
122	KONDAPUR TO GACHIBOWLI JUNCTION ON GACHIBOWLI MIYAPUR ROAD ON LHS	RANGA REDDY	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
123	BOTANICAL GARDEN TO SERILINGAMPALLI (ON MASJID BANDA/BOTANICAL GARDEN MAIN ROAD) ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
124	ON EITHER SIDE FROM MARICHETTU JUNCTION, MANIKONDA TO NEKNAMPUR ROAD	RANGA REDDY	REGULAR	250	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
125	MANIKONDA JAGIR	RANGA REDDY	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
126	FROM SHAMSHABAD TO MAMIDPALLY ON EITHER SIDE	RANGA REDDY	REGULAR	250	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
127	FROM KAMINENI HOSPITAL TO BALAPUR CROSSROAD ON LHS	RANGA REDDY	REGULAR	220	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
128	FROM KAMINENI HOSPITAL TO BALAPUR CROSSROAD ON RHS	RANGA REDDY	REGULAR	220	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
129	ON RHS OF NH 65 FROM ORR TO BATASINGARAM	RANGA REDDY	REGULAR	460	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
130	KHAJAGUDA X TO NANAKRAMGUDA ROAD VIA HGCL OFFICE ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	сс	20	20	400	32	12	Bidding	30	5
131	ON LHS OF NH 65 FROM ORR TO BATASINGARAM	RANGA REDDY	REGULAR	460	OPEN	сс	35	35	1225	32	12	Bidding	30	5
132	GACHIBOWLI CIRCLE TO SERILINGAMPALLI ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	сс	20	20	400	32	12	Bidding	30	5
133	GOLKONDA FORT ROAD TO ALKAPURI COLONY ROAD VIA NEKNAMPUR ROAD ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
134	LB NAGAR TO SAROORNAGAR ON EITHER SIDE (NOT ON HIGHWAY/INNER RING ROAD)	RANGA REDDY	REGULAR	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
135	ATTAPUR TO KATEDAN VIA ARAMGARH JUNCTION ON EITHER SIDE	RANGA REDDY	REGULAR	250	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
136	ARAMGARH TO BAHADURPURA ON EITHER SIDE	RANGA REDDY	REGULAR	220	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
137	BETWEEN GAGANPAHAD AND SHAMSHABAD ORR EXIT ON EITHER SIDE ON NH 44	RANGA REDDY	REGULAR	220	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
138	ADIBATLA TO RAVIRYAL ON ETIHER SIDE	RANGA REDDY	REGULAR	190	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
139	SERILINGAMPALLE	RANGA REDDY	REGULAR	250	OPEN	сс	20	20	400	32	12	Bidding	30	5
140	VATTINAGULAPALLY NOT ON ORR SERVICE ROAD	RANGA REDDY	REGULAR	250	OPEN	сс	20	20	400	32	12	Bidding	30	5
141	WITHIN 1 KM OF ALKAPUR TOWNSHIP	RANGA REDDY	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
142	ON LHS OF VIJAYWADA HIGHWAY, FROM AUTONAGAR TO LB NAGAR CROSS ROAD	RANGA REDDY	REGULAR	250	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
143	GACHIBOWLI JUNCTION TO RAIDURGAM ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	сс	20	20	400	32	12	Bidding	30	5
144	KOKAPET	RANGA REDDY	REGULAR	250	OPEN	сс	20	20	400	32	12	Bidding	30	5
145	HITEX CHARMINAR WITHIN 4 KM RADIUS	RANGA REDDY	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
146	NARSINGI TO MANIKONDA	RANGA REDDY	REGULAR	250	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
147	FROM KOHEDA VILLAGE CROSS ROAD TO MUNGANOOR VIA THORUR ROAD ON EITHER SIDE	RANGA REDDY	REGULAR	150	OBC CC 1	DC	20	20	400	32	75	Draw of Lots	15	4
148	MADHAPUR	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
149	ON EITHER SIDE, FROM PEDDA AMBERPET JUNCTION AT VIJAYWADA HIGHWAY TO PASUMMAMULA VILLAGE (NOT ON NH)	RANGA REDDY	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
150	ON EITHER SIDE OF ROAD BETWEEN JNTU AND BIODIVERSITY PARK VIA MINDSPACE ROTARY	RANGA REDDY	REGULAR	250	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
151	ON EITHER SIDE FROM KUNTLOOR TO TARAMATIPET VIA PASUMAMLA	RANGA REDDY	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
152	ON EITHER SIDE OF ROAD BETWEEN GOPANPALLY TO SERILINGAMPALLY	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
153	BETWEEN APPA JUNCTION TO MOINABAD ON NH 163 ON RHS	RANGA REDDY	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
154	BAIRAMALGUDA CROSS ROAD TO SANTHOSH NAGAR CROSS ROAD(CHAMPAPET ROAD) ON EITHER SIDE	RANGA REDDY	REGULAR	200	OPEN	СС	20	20	400	32	12	Bidding	30	5
155	SHAMSHABAD TO THIMMAPUR ON LHS OF NH-44	RANGA REDDY	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
156	SHAMSHABAD TO PALMAKUL ON RHS ON NH 44	RANGA REDDY	REGULAR	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
157	ON LHS OF NH 765 FROM TUKKUGUDA TO KANDUKUR	RANGA REDDY	REGULAR	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
158	ON RHS OF NH 765 FROM TUKKUGUDA TO KANDUKUR	RANGA REDDY	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
159	ON RHS OF NH765, FROM THUKKUGUDA VILLAGE TO PAHADI SHAREEF	RANGA REDDY	REGULAR	270	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
160	ON EITHER SIDE OF VIJAYWADA HIGHWAY, FROM DISUKHNAGAR TO LB NAGAR CROSS ROAD	RANGA REDDY	REGULAR	340	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
161	THIMMAPUR TO SHADNAGAR ON LHS ON NH 44	RANGA REDDY	REGULAR	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
162	SOLIPUR TO RAIKAL ON LHS ON NH 44	RANGA REDDY	REGULAR	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area d	Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
163	DILSUKHNAGAR	RANGA REDDY	REGULAR	340	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
164	THIMMAPUR TO RAIKAL ON RHS ON NH 44	RANGA REDDY	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
165	BETWEEN MINDSPACE ROTARY TO GACHIBOWLI MIYAPUR ROAD VIA MINDSPACE ROAD ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
166	AYYAPPA SOCIETY TO ROAD 36(JUBILEE HILLS) ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
167	SHADNAGAR TOWN WITHIN MUNICIPAL LIMITS (NOT ON NH/SH)	RANGA REDDY	REGULAR	100	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
168	BN REDDY NAGAR TO INJAPUR CROSS ROAD ON NAGARJUNA SAGAR ROAD ON EITHER SIDE	RANGA REDDY	REGULAR	270	OBC	СС	20	20	400	32	12	Bidding	30	4
169	ON EITHER SIDE ON SH19, FROM BAIRAMALGUDA CROSS ROAD TO BN REDDY NAGAR	RANGA REDDY	REGULAR	270	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
170	CHEVELLA - SHANKERPALLE CROSS ROADS(NEAR LANGAR HOUZ) TO APPA JUNCTION ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
171	VANASTHALIPURAM NOT ON NH	RANGA REDDY	REGULAR	160	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
172	MAILARDEVPALLI TO MAMIDAPALLY ON EITHER SIDE OF AIRPORT ROAD	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
173	CHINTALKUNTA NOT ON NH	RANGA REDDY	REGULAR	160	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
174	ON EITHER SIDE FROM ORR RAJENDRANAGAR EXIT NO 17 TO ICAR-DIRECTORATE OF POULTRY RESEARCH	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
175	KATEDAN IDA	RANGA REDDY	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
176	KONDAPUR	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
177	NANAKRAMGUDA - NOT ON ORR SERVICE ROAD	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
178	FROM SHIVAJI CHOWK, BANDLAGUDA JAGIR TO STATE BANK OF INDIA,BUDWEL ON KISMATPUR ROAD ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
179	ON EITHER SIDE FROM GURUDWARA RAMDEVGUDA, IBRAHIM BAGH TO ATTAPUR	RANGA REDDY	REGULAR	200	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
180	MAILARDEVPALLI POLICE STATION TO NH-44 JUNCTION VIA KATEDHAN ON EITHER SIDE	RANGA REDDY	REGULAR	250	OBC PH	DC	20	20	400	32	75	Draw of Lots	15	4
181	ON EITHER SIDE OF RCI ROAD, FROM BALAPUR CROSSROAD TO ARCI CIRCLE	RANGA REDDY	REGULAR	200	OPEN	СС	20	20	400	32	12	Bidding	30	5
182	BALAPUR CROSSROAD TO BADANGPET ON EITHER SIDE	RANGA REDDY	REGULAR	160	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
183	ADIBATLA , IBRAHIMPATNAM MANDAL	RANGA REDDY	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio f site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
184	BONGLOOR CROSS ROAD TO ADIBATLA TOWN ON EITHER SIDE	RANGA REDDY	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
185	MEERPET TO BADANGPET ON EITHER SIDE	RANGA REDDY	REGULAR	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
186	KOTHAPET , SAROORNAGAR MANDAL	RANGA REDDY	REGULAR	300	OPEN	сс	20	20	400	32	12	Bidding	30	5
187	GANDIPET NOT ON ORR SERVICE ROAD	RANGA REDDY	REGULAR	250	OPEN	сс	20	20	400	32	12	Bidding	30	5
188	CHEVELLA TO MANNEGUDA ON NH 163 ON EITHER SIDE	RANGA REDDY	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
189	KARMANGHAT, SAROORNAGAR MANDAL	RANGA REDDY	REGULAR	220	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
190	ON EITHER SIDE, FROM ORR TO JUNCTION ON NAGARJUNA VIA TARUR	RANGA REDDY	REGULAR	160	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
191	ON EITHER SIDE, FROM BN REDDY NAGAR TO ORR ON NAGARJUNA SAGAR ROAD	RANGA REDDY	REGULAR	300	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
192	NADERGUL TO JUNCTION AT NAGARJUNA SAGAR ROAD VIA TURKAYAMJAL ON EITHER SIDE	RANGA REDDY	REGULAR	190	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
193	ON EITHER SIDE OF NH 765 FROM ERRAKUNTA X ROAD TO PAHADI SHAREEF	RANGA REDDY	REGULAR	160	OBC	сс	30	30	900	32	12	Bidding	30	4
194	ON RHS OF SH 19 FROM ORR BONGLOOR EXIT NO 12 TO IBRAHIMPATNAM POLICE STATION	RANGA REDDY	REGULAR	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
195	PEDDA AMBERPET, NH JUNCTION TO KOHEDA (NOT ON ORR SERVICE ROAD) ON EITHER SIDE	RANGA REDDY	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
196	VIJAYAWADA HIGHWAY JUNCTION TO ASIAN SHIVA GANGA THEATRE ON GADDI ANNARAM ROAD ON EITHER SIDE	RANGA REDDY	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
197	KOTHAGUDA, HITECH CITY	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
198	WITHIN 2KM OF NGT CIRCLE, NALLAGANDLA (NOT ON NALLAGANDLA-TELLAPUR ROAD)	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
199	NGT CIRCLE TO TELLAPUR CIRCLE ON NALLAGANDLA -TELLAPUR ROAD ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
200	FROM BOTANICAL GARDEN ROAD TO MANJEERA PIPELINE ROAD VIA MY HOME MANGALA ON EITHER SIDE	RANGA REDDY	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
201	AGAPALLY TO GUNGAL ON LHS OF SH19	RANGA REDDY	REGULAR	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
202	BHARAT DYNAMICS LIMITED ON MIDHANI TOWNSHIP ROAD TO BALAPUR CROSS ROAD ON EITHER SIDE	RANGA REDDY	REGULAR	180	OPEN	СС	20	20	400	32	12	Bidding	30	5
203	RAVIRYAL	RANGA REDDY	REGULAR	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
204	GOWRELLY TO MUSI RIVER BRIDGE ON EITHER SIDE OF PRATAP SINGARAM ROAD	RANGA REDDY	REGULAR	150	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area c	Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
205	YACHARAM TO MALL ON EITHER SIDE OF SH 19	RANGA REDDY	REGULAR	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
206	ALMASGUDA	RANGA REDDY	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
207	FROM MANSOORABAD CHOWRASTA TO GSI BANDLAGUDA CROSS ROAD ON LHS	RANGA REDDY	REGULAR	200	OPEN	сс	20	20	400	32	12	Bidding	30	5
208	KISMATPUR NOT ON ORR SERVICE ROAD	RANGA REDDY	REGULAR	250	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
209	FINANCIAL DISTRICT NOT ON ORR SERVICE ROAD	RANGA REDDY	REGULAR	250	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
210	SHADNAGAR TO KOTHUR ON OLD HIGHWAY ON EITHER SIDE (BEYOND MUNICIPAL LIMITS)	RANGA REDDY	REGULAR	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
211	FROM KALI MANDIR JN ON CHEVELLA RD TO ORR VIA DON BOSCO NAGAR - DARGA KHALIZ KHAN RD ON EITHER SIDE	RANGA REDDY	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
212	HAYATHNAGAR TO VANASTHALIPURAM JN ON NH 65 ON LHS	RANGA REDDY	REGULAR	450	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
213	SAHEBNAGAR KALAN	RANGA REDDY	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
214	ON LHS OF RCI ROAD WITHIN 4 KM FROM THE PAHADI SHARIF INTERSECTION ON NH765	RANGA REDDY	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
215	VIKARABAD TOWN MUNICIPALITY LIMITS	VIKARABAD	REGULAR	100	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
216	MANNEGUDA TO PARGI ON NH163 ON LHS	VIKARABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
217	WITHIN 5KM FROM PARIGI BUS STAND ON RHS ON NH 163 FROM PARIGI TOWARDS KODANGAL	VIKARABAD	REGULAR	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
218	PARIGI TOWN (WITHIN MUNICIPAL LIMITS) ON SHADNAGAR ROAD ON EITHER SIDE	VIKARABAD	REGULAR	100	ОВС	DC	25	25	625	32	55	Draw of Lots	15	4
219	WITHIN PEBBAIR MUNICIPAL LIMITS (NOT ON SH)	WANAPARTHY	REGULAR	100	OPEN CC 1	DC	25	25	625	32	55	Draw of Lots	15	5
220	ADDAKAL TOLL TO KM STONE 142 ON RHS OF NH 44	WANAPARTHY	REGULAR	170	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
221	WITHIN KOTHAKOTA MUNICIPAL LIMITS (NON ON SH)	WANAPARTHY	REGULAR	100	ОВС	DC	25	25	625	32	55	Draw of Lots	15	4
222	WITHIN 3 KM OF BHAIRAPUR VILLAGE, UNDAVALLY MANDAL	JOGULAMBA GADWAL	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
223	WITHIN 5 KMS OF TRINITY MODEL HIGH SCHOOL, PARAMALA VILLAGE, GADWAL MANDAL	JOGULAMBA GADWAL	RURAL	70	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
224	WITHIN 2 KM OF KODGAL VILLAGE, JEDCHARLA MANDAL	MAHBUBNAGAR	RURAL	90	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
225	WITHIN 3 KM OF GOVERNMENT CIVIL HOSPITAL, KOILKONDA VILLAGE AND MANDAL	MAHBUBNAGAR	RURAL	60	ST	CFS	30	25	750	0	0	Draw of Lots	0	2

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *		Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
226	WITHIN 2 KMS OF GUNDIYAL VILLAGE,HANWADA MANDAL	MAHBUBNAGAR	RURAL	70	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
227	WITHIN 5 KMS OF ZPHS HIGH SCHOOL, KOLLOOR VILLAGE, NAWABPET MANDAL	MAHBUBNAGAR	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
228	POLEPALLY VILLAGE TO NH 44 ON EITHER SIDE, JADCHERLA MANDAL	MAHBUBNAGAR	RURAL	60	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
229	WITHIN 3 KMS OF BUSTAND, APPAMPALLY VILLAGE, CHINNA CHINTHA KUNTA MANDAL	MAHBUBNAGAR	RURAL	70	OPEN CC 2	DC	30	25	750	16	35	Draw of Lots	5	4
230	FROM ORR JUNCTION UPTO KEESARA BUSSTOP ON EITHER SIDE	MEDCHAL MALKAJGIRI	RURAL	90	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
231	WITHIN 3KMS FROM SHAMIRPET JUNCTION ON SHAMIRPET KEESARA ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
232	MEDCHAL TO SHAMIRPET VIA GHANPUR ON EITHER SIDE	MEDCHAL MALKAJGIRI	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
233	VILLAGE SOMASILA, KOLLAPUR MANDAL	NAGARKURNOOL	RURAL	70	ОВС	DC	30	25	750	16	35	Draw of Lots	5	3
234	IRWIN VILLAGE, MADGUL MANDAL	RANGA REDDY	RURAL	60	ОВС	DC	30	25	750	16	35	Draw of Lots	5	3
235	RALLAGUDA TO AMMAPALLI ON NAGARGUDA-SHAMSHABAD ROAD ON EITHER SIDE (NOT ON ORR SERVICE ROAD)	RANGA REDDY	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
236	WITHIN 6 KM FROM VILLAGE ANNOJIGUDA, KANDUKUR MANDAL (NOT ON NH/SH)	RANGA REDDY	RURAL	70	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
237	VILLAGE LEMOOR IN KANDUKUR MANDAL	RANGA REDDY	RURAL	95	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
238	JAHANGIR PIR DARGAH TO ALLISABGUDA, FAROOQNAGAR VIA DOOSKAL ON EITHER SIDE	RANGA REDDY	RURAL	80	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
239	KONDURG VILLAGE, KONDURG MANDAL	RANGA REDDY	RURAL	85	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
240	ON EITHER SIDE FROM NARKHUDA TO KACHARAM ON SHAMSHABAD ROAD	RANGA REDDY	RURAL	80	OPEN CC 1	DC	30	25	750	16	35	Draw of Lots	5	4
241	ORR TO NARGARJUNA SAGAR ROAD VIA KONGARA KALAN ROAD ON EITHER SIDE, IBRAHIMPATNAM MANDAL	RANGA REDDY	RURAL	90	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
242	ON EITHER SIDE FROM REDDIPALLE TO SHANKARPALLE (BEYOND MUNICIPAL LIMITS)	RANGA REDDY	RURAL	100	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
243	FROM PALMAKUL TO SRI RAMANUJACHARYA SWAMY STATUE VIA PALMAKUL - PEDDA GOLCONDA ROAD ON EITHER SIDE	RANGA REDDY	RURAL	100	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
244	SHANKERPALLI CHEVELLA ROAD ON EITHER SIDE BEYOND MUNICIPAL LIMITS	RANGA REDDY	RURAL	100	OBC CC 1	DC	30	25	750	16	35	Draw of Lots	5	3
245	ON EITHER SIDE FROM MAMBAPUR TO MAREPALLY, PEDDEMUL (MANDAL)	VIKARABAD	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
246	WITHIN 5 KMS OF RAILWAY STATION, MADANAPUR VILLAGE AND MANDAL	WANAPARTHY	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
247	RAJAPET TO WANAPARTHY ON KOTHAKOTA-WANAPARTHY ROAD	WANAPARTHY	RURAL	70	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
248	ON UTNOOR- MANCHERIAL ROAD, FROM ITDA UTNOOR OFFICE TO BIRSAIPET VILLAGE	ADILABAD	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
249	WITHIN ADILABAD MUNICIPAL LIMITS (NOT ON NH)	ADILABAD	REGULAR	140	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
250	ON NH 44, BETWEEN NERIDIGONDA AND MAVALA VILLAGE (RHS TOWARDS NAGPUR)	ADILABAD	REGULAR	165	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
251	ON NH563, FROM SRSP MAIN CANAL TO JAGITAL NEW BUS STAND, LHS TOWARDS JAGITIAL	JAGITIAL	REGULAR	230	OPEN	СС	35	35	1225	32	12	Bidding	30	5
252	ON NH563, WITHIN 5 KM FROM MALLIAL X ROADS ON LHS TOWRADS JAGITIAL	JAGITIAL	REGULAR	200	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
253	ON NH563, WITHIN MUTHYAMPETA VILLAGE LIMIT, ON LHS TOWARDS JAGITIAL	JAGITIAL	REGULAR	220	OPEN	сс	35	35	1225	32	12	Bidding	30	5
254	ON NH61 BETWEEN GORREPALLI AND ITIKYALA	JAGITIAL	REGULAR	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
255	ON NH63, METPALLY MANDAL LHS TOWARDS NIZAMABAD	JAGITIAL	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
256	WITHIN JAGITIAL MUNCIPAL LIMITS NOT ON NH	JAGITIAL	REGULAR	160	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
257	WITHIN KORUTLA MUNCIPAL LIMITS NOT ON NH	JAGITIAL	REGULAR	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
258	WITHIN METPALLY MUNCIPAL LIMITS NOT ON NH	JAGITIAL	REGULAR	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
259	ON SH 11,KAMAREDDY TO YELLAREDDY ROAD,WITHIN TADWAI MANDAL	KAMAREDDY	REGULAR	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
260	ON NH 765D WITHIN 2 KMS FROM BANASWADA BUS STAND (LHS OR RHS)	KAMAREDDY	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
261	ON SH11, MACHAREDDY MANDAL (LHS OR RHS)	KAMAREDDY	REGULAR	102	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
262	WITHIN BANSWADA MUNICIPAL LIMITS,NOT ON NH	KAMAREDDY	REGULAR	140	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
263	KARIMNAGAR FIRE STATION TO CWC GODOWN(VIA MAIN GATE OF GOVT DEGREE & PG COLLEGE FOR WOMEN)	KARIMNAGAR	REGULAR	248	OBC	СС	20	20	400	32	12	Bidding	30	4
264	KARIMNAGAR WITHIN MUNCIPAL LIMITS NOT ON NH AND SH	KARIMNAGAR	REGULAR	270	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
265	ON SH-7, WITHIN 4.5 KMS FROM MANCHERIAL CHOWRASTA TOWARDS PRATHIMA MEDICAL COLLEGE.	KARIMNAGAR	REGULAR	180	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
266	ON AREPALLI ROAD (VIA D MART),FROM KARIMNAGAR- JAGATIAL ROAD INTERSECTION UPTO TO AREPALLI VILLAGE	KARIMNAGAR	REGULAR	220	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
267	ON GANESHNAGAR ROAD, BETWEEN AMBEDKAR STADIUM AND HYUNDAI SHOWROOM, WITHIN MUNCIPAL LIMITS.	KARIMNAGAR	REGULAR	260	OPEN	СС	20	20	400	32	12	Bidding	30	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio f site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
268	ON HUZURABAD TO SAIDAPUR ROAD, FROM NH 563 INTERSECTION UPTO HUZURABAD MUNCIPAL LIMITS.	KARIMNAGAR	REGULAR	184	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
269	ON SH-1(KARIMNAGAR-RAMAGUNDAM ROAD),FROM B.Y REDDY STATUE TO CHALMEDA MEDICAL COLLEGE GATE,ON LHS	KARIMNAGAR	REGULAR	263	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
270	WITHIN 1.5KM RADIUS FROM GANDHI STATUE ON MANCHERIAL ROAD, WITHIN KARIMNAGAR MUNCIPAL LIMITS.	KARIMNAGAR	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
271	SIRSILK ROAD WITHIN KAGAZNAGAR MUNCIPAL LIMITS	KUMURAM BHEEM ASIFABAD	REGULAR	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
272	ON NH363 TANDUR MANDAL, BOYAPALLI TO BELLAMPALLI LHS TOWARDS MANCHERIAL	MANCHERIAL	REGULAR	200	OBC	СС	35	35	1225	32	12	Bidding	30	4
273	ON NH363, BETWEEN MANDAMARI AND PULIMADUGU, ON LHS TOWARDS MANCHERIAL	MANCHERIAL	REGULAR	220	OPEN	СС	35	35	1225	32	12	Bidding	30	5
274	ON NH63, BETWEEN KOTHUR AND DHARMARAM (LHS OR RHS)	MANCHERIAL	REGULAR	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
275	ON NH63, BETWEEN MANCHERIAL TO GUDIPET, ON LHS TOWARDS LAKSHETTIPET	MANCHERIAL	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
276	ON SH1 BETWEEN GODAVARI BRIDGE AND NH63 INTERSECTION LHS (TOWARDS PEDDAPLLI)	MANCHERIAL	REGULAR	170	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
277	WITHIN BELLAMPALLI MUNCIPAL LIMITS NOT ON NH	MANCHERIAL	REGULAR	140	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
278	WITHIN KYATANPALLI MUNCIPAL LIMITS NOT ON NH	MANCHERIAL	REGULAR	170	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
279	WITHIN LUXETTIPET MUNCIPAL LIMITS NOT ON NH	MANCHERIAL	REGULAR	150	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
280	WITHIN MANCHERIAL MUNCIPAL LIMITS NOT ON NH	MANCHERIAL	REGULAR	170	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
281	ON MARKET ROAD, BETWEEN NH765D AND NH161AA INTERSECTION, WITH IN NARSAPUR MUNICIPAL LIMITS.	MEDAK	REGULAR	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
282	ON NH161 (LHS OR RHS), BETWEEN PEDDAPUR TO SHANKARAMPET (A)	MEDAK	REGULAR	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
283	ON NH44, 10 KMS FROM KALLAKAL VILLAGE TOWARDS KAMAREDDY ON RHS	MEDAK	REGULAR	200	OPEN	СС	35	35	1225	32	12	Bidding	30	5
284	ON NH765D, NARSAPUR MANDAL (LHS OR RHS)	MEDAK	REGULAR	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
285	WITHIN TOOPRAN MUNICIPAL LIMITS NOT ON NH/SH	MEDAK	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
286	GAJULPET - VENGWAPET ROAD WITHIN NIRMAL MUNICIPAL LIMIT	NIRMAL	REGULAR	140	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4
287	ON NH 61 , WITHIN 5KMS FROM SHIVAJI CHOWK CHOWRASTA IN BHAINSA TOWARDS NIRMAL	NIRMAL	REGULAR	195	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
288	SATHNAPALLE VILLAGE LIMITS ON SH 24	NIRMAL	REGULAR	120	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *		Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
289	WITH IN NIRMAL MUNICIPAL LIMITS (NOT ON NH)	NIRMAL	REGULAR	210	OPEN	сс	20	20	400	32	12	Bidding	30	5
290	FROM PHULONG X ROAD TO MADHAVNAGAR ON HYDERABAD ROAD, NIZAMABAD TOWN, RHS TOWARDS DICHPALLY	NIZAMABAD	REGULAR	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
291	ON NH 161BB, BETWEEN BODHAN AND SATAPUR	NIZAMABAD	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
292	ON NH 63, FROM NAVYABHARATHI GLOBAL SCHOOL TO GANDHI CHOWK ON LHS	NIZAMABAD	REGULAR	150	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
293	ON NH 63, FROM NEHRU PARK TO JANKAMPET X ROADS, LHS TOWARDS JANKAMPET	NIZAMABAD	REGULAR	220	OPEN	сс	35	35	1225	32	12	Bidding	30	5
294	WITH IN NIZAMABAD MUNICIPAL CORPORATION LIMITS (NOT ON NH)	NIZAMABAD	REGULAR	260	OPEN	сс	20	20	400	32	12	Bidding	30	5
295	WITHIN 2KM ON KANTESHWAR BYPASS ROAD(LHS), FROM DICHPALLY ROAD- KANTESHWAR BYPASS INTERSECTION	NIZAMABAD	REGULAR	125	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
296	ON AAYAPPA CHOWRASTA ROAD TOWARDS DONGATHURTHY VILLAGE WITHIN PEDDAPLLI MUNCIPAL LIMITS.	PEDDAPALLI	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
297	ON SH1, BETWEEN KANNALA VILLAGE AND APPANNAPETA, LHS TOWARDS PEDDAPLLI.	PEDDAPALLI	REGULAR	125	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
298	WITHIN RAMAGUNDAM CORPORATION LIMITS NOT SH	PEDDAPALLI	REGULAR	130	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
299	ON SH-11, BETWEEN NANDI CHOWRASTHA TO KODURUPAKA BRIDGE ON BOTH SIDES	RAJANNA SIRCILLA	REGULAR	180	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
300	ON SH-11,KODURPAKA BRIDGE TO KARIMNAGAR,TILL RAJANNA SIRCILLA DISTRICT BORDER.	RAJANNA SIRCILLA	REGULAR	191	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
301	VEMULAWADA WITHIN MUNCIPAL LIMITS NOT ON NH/SH	RAJANNA SIRCILLA	REGULAR	149	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
302	113 GHMC DIVISION, PATANCHERU MANDAL NOT ON NH	SANGAREDDY	REGULAR	200	OPEN	сс	20	20	400	32	12	Bidding	30	5
303	BETWEEN BEERAMGUDA KAMAN AND POST OFFICE OF KISTAREDDYPET VILLAGE, AMEENPUR MANDAL	SANGAREDDY	REGULAR	300	OPEN	СС	20	20	400	32	12	Bidding	30	5
304	BETWEEN NH65 INTERSECTION AND MANDAL REVENUE OFFICE, WITHIN SADASIVPET MUNICIPAL LIMITS	SANGAREDDY	REGULAR	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
305	FROM RAGHAVENDRA COLONY TO AMEENPUR VILLAGE ROAD.	SANGAREDDY	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
306	ON NH65, BETWEEN LINGAMPALLY AND PATANCHERU (ON EITHER SIDE OF NH)	SANGAREDDY	REGULAR	350	OPEN	СС	30	30	900	32	12	Bidding	30	5
307	ON EITHER SIDE OF NH161AA , BETWEEN SADASIVNAGAR AND PALPANOOR	SANGAREDDY	REGULAR	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
308	ON NH 765D , JINNARAM MANDAL (LHS TOWARDS MEDAK)	SANGAREDDY	REGULAR	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
309	ON NH161, BETWEEN NH65 INTERSECTION AND TADANNAPALLY PLAZA ON LHS TOWARDS NANDED.	SANGAREDDY	REGULAR	300	OPEN	сс	35	35	1225	32	12	Bidding	30	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area d	Diemnsio of site (in S			be arranged policant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
310	ON NH161, BETWEEN NH65 INTERSECTION AND TADANNAPALLY TOLL PLAZA ON RHS TOWARDS NANDED	SANGAREDDY	REGULAR	150	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
311	ON NH161,BETWEEN SULTANPUR AND SERIMALLAREDDIPALLY (ON EITHER SIDE OF NH)	SANGAREDDY	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
312	ON NH65 BETWEEN MUTHANGI AND RUDRARAM ON LHS TOWARDS PUNE	SANGAREDDY	REGULAR	300	OPEN	сс	35	35	1225	32	12	Bidding	30	5
313	ON NH65, BETWEEN KANDI X ROADS AND CHINTHAL DARGAH SHARIF ON LHS TOWARDS MUMBAI	SANGAREDDY	REGULAR	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
314	ON NH65,BETWEEN NH161 INTERSECTION AND POTHIREDDYPALLY-X ROADS, ON RHS TOWARDS MUMBAI	SANGAREDDY	REGULAR	220	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
315	ON OSMAN NAGAR ROAD ,BETWEEN ORR SERVICE ROAD INTERSECTION AND INDUS CREST CIRCLE TELLAPUR.	SANGAREDDY	REGULAR	270	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
316	ON ZAHEERABAD TO RAMNAGAR ROAD, WITHIN ZAHEERBAD MUNICIPAL LIMITS	SANGAREDDY	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
317	RAMACHANDRAPURAM MANDAL NOT ON NH	SANGAREDDY	REGULAR	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
318	SANGAREDDY TOWN BYPASS ROAD NOT ON NH	SANGAREDDY	REGULAR	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
319	WITHIN AMEENPUR MUNICIPAL LIMITS	SANGAREDDY	REGULAR	140	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
320	WITHIN IDA BOLARAM MUNICIPAL LIMITS	SANGAREDDY	REGULAR	160	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
321	WITHIN NARAYANKHED MUNICIPAL LIMITS NOT ON NH	SANGAREDDY	REGULAR	160	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
322	WITHIN SANGAREDDY MUNICIPAL LIMITS BETWEEN POTHIREDDY PALLY X ROAD AND OLD BUS STAND	SANGAREDDY	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
323	WITHIN TELLAPUR MUNICIPAL LIMITS, BETWEEN TELLAPUR AND GOPANPALLI THANDA CHOWRASTA	SANGAREDDY	REGULAR	310	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
324	WITHIN TELLAPUR MUNICPAL LIMITS , BETWEEN TELLAPUR TO TOWARDS NALLAGANDLA	SANGAREDDY	REGULAR	330	OPEN	СС	20	20	400	32	12	Bidding	30	5
325	CHERIAL - AKUNOOR ROAD, WITHIN MUNCIPAL LIMITS NOT ON NH/SH.	SIDDIPET	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
326	ON CHERIAL TO CHUNCHANAKOTA ROAD, WITHIN CHERIAL MUNCIPAL LIMITS.	SIDDIPET	REGULAR	175	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
327	ON KARIMNAGAR ROAD, FROM SIDDIPET OLD BUS STAND TO SH-01 INTERSECTION (VIA AYYAPA SWAMY TEMPLE).	SIDDIPET	REGULAR	280	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
328	ON NH 365 B,FROM VEMULAWADA KAMAN TOWARDS SIRCILLA, WITHIN SIDDIPET MUNCIPAL LIMITS	SIDDIPET	REGULAR	220	OPEN	сс	35	35	1225	32	12	Bidding	30	5
329	ON SH 1 GOURARAM TO VANTIMAMIDI, WITHIN MULUGU MANDAL LIMITS, ON RHS.	SIDDIPET	REGULAR	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
330	ON SH-01,RIMMANGUDA TO TIMMAREDDIPALLY VILLAGE ,ON LHS	SIDDIPET	REGULAR	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
331	ON SH-1,FROM PONNAL TO RIMMANGUDA, ON LHS	SIDDIPET	REGULAR	170	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
332	ON SIDDIPET OUTER RING ROAD, FROM HANUMAN X ROAD TO NH365B INTERSECTION (VIA NAGA DEVADA TEMPLE)	SIDDIPET	REGULAR	200	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
333	SIDDIPET WITHIN MUNCIPAL LIMITS NOT ON NH/SH.	SIDDIPET	REGULAR	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
334	SIDDIPET, ON THE ROAD CONNECTING SH-01 AND SIDDIPET RAILWAY STATION.	SIDDIPET	REGULAR	170	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
335	WITHIN 2 KILOMETER RADIUS FROM RENUKA YELLAMMA TEMPLE, RAMNAGAR SIDDIPET, WITHIN MUNCIPAL LIMITS.	SIDDIPET	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
336	ADILABAD TO ASIFABAD ROAD , BETWEEN UTNOOR X ROAD AND HASNAPUR	ADILABAD	RURAL	140	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
337	BETWEEN TSWR JUNIOR COLLEGE BOATH AND BOATH BUS STAND ON BOATH MAIN ROAD, BOATH VILLAGE& MANDAL	ADILABAD	RURAL	90	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
338	IN TALMADUGU VILLAGE, TALMADUGU MANDAL	ADILABAD	RURAL	70	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
339	KUCHULAPUR TO ADELLI ROAD, BOATH MANDAL	ADILABAD	RURAL	75	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
340	NARNOOR VILLAGE & MANDAL	ADILABAD	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
341	NIPANI TO SAWARGAON ROAD, BHEEMPOOR MANDAL	ADILABAD	RURAL	70	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
342	ON NIRMAL ROAD, FROM WANKIDI VILLAGE TOWARDS NH 44 INTERSECTION.	ADILABAD	RURAL	90	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
343	BETWEEN OBULAPUR VILLAGE AND NADUKUDA VILLAGE ON METPALLY-KANAPUR ROAD	JAGITIAL	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
344	IN VELLULLA VILLAGE, METPALLY MANDAL	JAGITIAL	RURAL	80	OPEN CC 1	DC	30	25	750	16	35	Draw of Lots	5	4
345	ON BEERPUR TO DHARMAPURI ROAD, BETWEEN BEERPUR VILLAGE AND DHARMAPURI VILLAGE	JAGITIAL	RURAL	70	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
346	VEMULAKURTHI VILLAGE TO THIMMAPUR VILLAGE, VIA YAMAPUR, IN IBRAHIMPATNAM MANDAL.	JAGITIAL	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
347	ON DOMAKONDA TO TUJALPUR ROAD,IN BIBIPET VILLAGE, BIBIPET MANDAL	KAMAREDDY	RURAL	70	ОВС	DC	30	25	750	16	35	Draw of Lots	5	3
348	ON JUKKAL KALLAKAL ROAD , BETWEEN NH 161 INTERSECTION AND BASWAPUR VILLAGE	KAMAREDDY	RURAL	65	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
349	IN RAGAMPETA VILLAGE, CHOPPADANDI MANDAL ,NOT ON SH,KARIMNAGAR DISTRICT	KARIMNAGAR	RURAL	120	OPEN PH	DC	30	25	750	16	35	Draw of Lots	5	4
350	IN BIJIGIRISHARIF VILLAGE, JAMMIKUNTA MANDAL	KARIMNAGAR	RURAL	150	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
351	IN DURSHED VILLAGE OF KARIMNAGAR RURAL MANDAL, NOT ON SH	KARIMNAGAR	RURAL	160	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio f site (in S		l	be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
352	IN ELBAKA VILLAGE, VEENAVANKA MANDAL	KARIMNAGAR	RURAL	120	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
353	IN ELGANDAL VILLAGE,KOTHAPALLY MANDAL, NOT ON STATE HIGHWAY	KARIMNAGAR	RURAL	130	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
354	IN GODISALA VILLAGE, V.SAIDAPUR MANDAL	KARIMNAGAR	RURAL	120	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
355	IN REKONDA VILLAGE, CHIGURUMAMIDI MANDAL	KARIMNAGAR	RURAL	165	ST CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
356	IN VAVILALA VILLAGE ON JAMMIKUNTA MANDAL	KARIMNAGAR	RURAL	160	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
357	ON GANGADHARA TO BURGUPALLE ROAD, WITHIN 3 KMS FROM GANGADHARA X ROAD, TOWARDS BURGUPALLE	KARIMNAGAR	RURAL	130	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
358	ON HUSNABAD-KARIMNAGAR ROAD, IN CHIGURUMAMIDI MANDAL AND NOT ON SUNDARAGIRI VILLAGE.	KARIMNAGAR	RURAL	130	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
359	KHAMNA VILLAGE, WANKDI MANDAL	KUMURAM BHEEM ASIFABAD	RURAL	65	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
360	ON ASIFABAD- ADILABAD ROAD, JAINOOR VILLAGE WITHIN 5 KM EITHER SIDE	KUMURAM BHEEM ASIFABAD	RURAL	90	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
361	ON SIRPUR KAGAZNAGAR ROAD, BETWEEN SIRPUR T AND RUDRARAM VILLAGE	KUMURAM BHEEM ASIFABAD	RURAL	65	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
362	ON SIRPUR TO KAGAZNAGAR ROAD BETWEEN NH363 INTERSECTION AND THE DISTRICT TRIBAL DEVELOPMENT OFFICE	KUMURAM BHEEM ASIFABAD	RURAL	70	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
363	ROAD CONNECTING DHOREPALLEY CROSS ROAD WITH GUDLABORI VILLAGE ,KOUTHALA MANDAL	KUMURAM BHEEM ASIFABAD	RURAL	70	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
364	ON TEKUMATLA -SRIRAMPUR ROAD, BETWEEN INDARAM VILLAGE AND TEKUMATLA VILLAGE.	MANCHERIAL	RURAL	100	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
365	IN KALLAKAL VILLAGE, TUPRAN MANDAL (NOT ON NH)	MEDAK	RURAL	70	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
366	SHANKARAMPET(A) VILLAGE MAIN ROAD, CONNECTING TO NH161 (SHANKARAMPET(A) MANDAL)	MEDAK	RURAL	75	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
367	IN BEERVELLI VILLAGE, SARANGAPUR MANDAL	NIRMAL	RURAL	100	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
368	IN KUNTALA VILLAGE, KUNTALA MANDAL	NIRMAL	RURAL	70	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
369	IN MAHAGAON VILLAGE ,BHAINSA MANDAL	NIRMAL	RURAL	80	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
370	BETWEEN ZILLA PARISHAD HIGH SCHOOL BORGOAN (P)AND MUGPAL VILLAGE, ON BORGAON(P) TO MUGPAL ROAD	NIZAMABAD	RURAL	90	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
371	FROM GANNARAM VILLAGE TO NH 44 INTERSECTION ROAD (VIA GANNARAM MARKET), INDALWAI MANDAL.	NIZAMABAD	RURAL	110	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
372	IN PADGAL VILLAGE , VELPUR MANDAL	NIZAMABAD	RURAL	70	OBC PH	DC	30	25	750	16	35	Draw of Lots	5	3

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsion f site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
373	IN PENTA KHURD VILLAGE LIMITS, BODHAN MANDAL	NIZAMABAD	RURAL	80	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
374	ON NANDIPET TO SHAPOOR VILLAGE ROAD, WITHIN 2KMS FROM NANDIPET .	NIZAMABAD	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
375	WITHIN 2KMS FROM MOSRA ON VARNI TO NIZAMABAD ROAD (LHS TOWARDS NIZAMABAD)	NIZAMABAD	RURAL	80	ST PH	CFS	30	25	750	0	0	Draw of Lots	0	2
376	WITHIN JANNEPALLE VILLAGE LIMITS, ON NANDIPET TO NAVIPET ROAD.	NIZAMABAD	RURAL	90	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
377	BETWEEN KOTHUR VILLAGE AND VENKATAROAPALLY VIA KUMMARIKUNTA VILLAGE ON KATAKANPALLI ROAD	PEDDAPALLI	RURAL	70	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
378	IN BITTUPALLY VILLAGE , MANTHANI MANDAL	PEDDAPALLI	RURAL	80	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
379	ON DHARMARAM X ROAD TO PEDAPALLI ROAD, BETWEEN MAREDUPALLY VILLAGE AND PUTNOOR VILLAGE,VIA CHAGAON	PEDDAPALLI	RURAL	120	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
380	ON MANTHANI - GODAVARIKHANI ROAD, BETWEEN GUNJAPADUGU VILLAGE AND SINGAREDDYPALLE VIA CHILLAPALLY.	PEDDAPALLI	RURAL	90	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
381	ON RAMAGUNDAM ROAD, BETWEEN RAYADANDI TO RAMAGUNDAM TOWN- (NOT IN RAMAGUNDAM MUNCIPAL LIMITS)	PEDDAPALLI	RURAL	90	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
382	IN JILLELA VILLAGE, THANGALLAPALLY MANDAL	RAJANNA SIRCILLA	RURAL	125	OBC CC 1	DC	30	25	750	16	35	Draw of Lots	5	3
383	IN NIZAMABAD VILLAGE , KONARAOPET MANDAL	RAJANNA SIRCILLA	RURAL	90	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
384	IN VILASAGAR VILLAGE AND BOINPALLI MANDAL	RAJANNA SIRCILLA	RURAL	130	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
385	ON CHANDURTHI TO RUDRANGI ROAD,FROM CHANDURTHI TO RUDRANGI,NOT ON CHANDURTHI,RUDRANGI VILLAGE LIMITS	RAJANNA SIRCILLA	RURAL	110	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
386	FROM PULKAL VILLAGE TO NH161 INTERSECTION ROAD (VIA TADDANPALLY VILLAGE)	SANGAREDDY	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
387	IN JINNARAM VILLAGE, JINNARAM MANDAL	SANGAREDDY	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
388	ON CHINTAL DARGH SHARIF TO MALLEPALLY VILLAGE ROAD, KONDAPUR MANDAL	SANGAREDDY	RURAL	75	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
389	ON INDRESHAM ROAD ,BETWEEN ORR SERVICE ROAD AND HANUMAN TEMPLE IN INDRESHAM	SANGAREDDY	RURAL	90	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
390	ON ISNAPUR TO INDRAKARAN ROAD, BETWEEN NH65 INTERSECTION AND INDRAKARAN	SANGAREDDY	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
391	ON KOHIR ROAD, BETWEEN NH65 INTERSECTION AND KOHIR VILLAGE, KOHIR MANDAL.	SANGAREDDY	RURAL	75	OPEN CC 1	DC	30	25	750	16	35	Draw of Lots	5	4
392	WITHIN 10 KMS FROM KANDI X ROADS TOWARDS SHANKARPALLY ROAD	SANGAREDDY	RURAL	100	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
393	IN HABSHIPUR VILLAGE , DUBBAK MANDAL NOT ON NH/SH	SIDDIPET	RURAL	100	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
394	IN BANDA MAILARAM VILLAGE, MULUGU MANDAL, NOT ON NH/SH.	SIDDIPET	RURAL	150	OPEN CC 1	DC	30	25	750	16	35	Draw of Lots	5	4
395	IN NARAYANARAOPET VILLAGE ,NARAYANARAOPET MANDAL, NOT ON NH/SH.	SIDDIPET	RURAL	105	ОВС	DC	30	25	750	16	35	Draw of Lots	5	3
396	IN WARGAL VILLAGE, WARGAL MANDAL, NOT ON NH/SH.	SIDDIPET	RURAL	128	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
397	ON SIDDIPET -MUSTABAD ROAD, IN SIDDIPET RURAL MANDAL, NOT IN MUNCIPAL LIMITS	SIDDIPET	RURAL	172	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
398	WITHIN 2 KM OF MANUGURU POLICE STATION ON EITHER SIDE OF PALWANCHA- MANUGURU- ETUNAGARAM ROAD	BHADRADRI KOTHAGUDEM	REGULAR	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
399	BETWEEN YELLANDU- KOTHAGUDEM-PALVANCHA CROSS ROAD AND BOMMANAPALLY VILLAGE ON NH 930P ON EITHER SIDE	BHADRADRI KOTHAGUDEM	REGULAR	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
400	BETWEEN REPALLEWADA BUS STAND AND ODDUGUDEM VILLAGE ON NH 930P (MAHABUBABAD- YELLANDU ROAD)	BHADRADRI KOTHAGUDEM	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
401	ON SH 12, WITHIN 7 KM FROM CHERLA BUS STAND TOWARDS VENKATAPURAM (ON EITHER SIDE)	BHADRADRI KOTHAGUDEM	REGULAR	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
402	ON SH 12, WITHIN 3 KM FROM 1 TOWN POLICE STATION, KOTHAGUDEM TOWN TOWARDS KHAMMAM (ON EITHER SIDE)	BHADRADRI KOTHAGUDEM	REGULAR	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
403	WITHIN 3 KM FROM LV PRASAD EYE HOSPITAL, PALWANCHA TOWN ON NH 30 (ON EITHER SIDE)	BHADRADRI KOTHAGUDEM	REGULAR	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
404	BETWEEN PALVANCHA-MANUGURU-BHADRACHALAM CROSS ROAD JUNCTION AND SARAPAKA VILLAGE ON NH 30	BHADRADRI KOTHAGUDEM	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
405	WITHIN BHADRACHALAM MUNICIPALITY LIMIT ON NH 30 (ON EITHER SIDE)	BHADRADRI KOTHAGUDEM	REGULAR	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
406	ON NH 30, WITHIN 3 KM ON EITHER SIDE OF PEDDAMMA GUDI (TEMPLE), PALWANCHA TOWN	BHADRADRI KOTHAGUDEM	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
407	FROM 1 TOWN POLICE STATION, KOTHAGUDEM TOWN TO RAMAVARAM ON LHS OF NH 30	BHADRADRI KOTHAGUDEM	REGULAR	150	OBC PH	DC	30	30	900	32	95	Draw of Lots	15	4
408	FROM EXIT OF WARANGAL OUTER RING ROAD TO OGLAPUR VILLAGE ON RHS OF NH 163	HANUMAKONDA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
409	FROM KOMATPALLY TOLL PLAZA TOWARDS AREPALLY WITHIN 3 KMS ON RHS OF NH 163	HANUMAKONDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
410	FROM KARUNAPURAM VILLAGE TO KOMATPALLY TOLL PLAZA ON LHS OF NH 163	HANUMAKONDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
411	FROM PARKAL CROSS ROAD TOWARDS SINGARAM WITHIN 3 KM ON NH 353C (ON EITHER SIDE)	HANUMAKONDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
412	FROM PARKAL TO WARANGAL WITHIN 5 KM ON NH 353C (ON EITHER SIDE)	HANUMAKONDA	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
413	FROM WARANGAL RLY UNDERBRIDGE TO NEW SHYAMPET CIRCLE ON HUNTER ROAD, WITHIN MUNICIPALITY LIMIT	HANUMAKONDA	REGULAR	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
414	FROM DR. BR AMBEDKAR STATUE TO 100 FT ROAD ON NGO COLONY ROAD, WITHIN WARANGAL MUNICIPALITY LIMIT	HANUMAKONDA	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area o	Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
415	WITHIN 2 KM RADIUS FROM HANAMKONDA BUS STAND, WITHIN WARANGAL MUNICIPALITY LIMIT	HANUMAKONDA	REGULAR	150	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
416	BETWEEN GOPALPUR CROSS ROAD JN AND ORR ON GOPALPUR ROAD (WITHIN WARANGAL MUNICIPALITY LIMIT)	HANUMAKONDA	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
417	FROM KAZIPET RAILWAY STATION TO DHARMASAGAR CROSS ROAD ON LHS WITHIN WARANGAL MUNICIPALITY LIMIT	HANUMAKONDA	REGULAR	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
418	FROM KAKATIYA UNIVERSITY X ROAD TO ERRAGATTUGUTTA JN ON NH-563, WITHIN WARANGAL MUNICIPALITY LIMIT	HANUMAKONDA	REGULAR	160	OPEN	СС	20	20	400	32	12	Bidding	30	5
419	ON PEGADAPALLY ROAD, BETWEEN KU BYPASS ROAD AND ORR (WITHIN WARANGAL MUNICIPALITY LIMIT)	HANUMAKONDA	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
420	WITHIN 3 KM FROM KU CROSS ROAD TOWARDS MULUGU ROAD, WITHIN WARANGAL MUNICIPALITY LIMIT	HANUMAKONDA	REGULAR	150	ОВС	сс	20	20	400	32	12	Bidding	30	4
421	FROM POLICE HEAD QUARTERS TO KU CROSS ROAD ON LHS OF NH-563, WITHIN WARANGAL MUNICIPALITY LIMIT	HANUMAKONDA	REGULAR	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
422	FROM FATHIMA JUNCTION TO ADALATH CIRCLE ON LHS WITHIN WARANGAL MUNICIPALITY LIMITS	HANUMAKONDA	REGULAR	180	OPEN	СС	20	20	400	32	12	Bidding	30	5
423	BETWEEN YELLAMALA VILLAGE AND YESWANTHAPUR VILLAGE ON EITHER SIDE OF NH 163	JANGAON	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
424	FROM MONDRAI VILLAGE TO THIRMALAGIRI VILLAGE ON NH 365B	JANGAON	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
425	FROM KARUNAPURAM VILLAGE TO CHINNAPENDYALA VILLAGE ON LHS OF NH 163	JANGAON	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
426	BETWEEN TALLAMPADU VILLAGE AND GOPALRAOPETA VILLAGE ON SH-42 (ON EITHER SIDE)	KHAMMAM	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
427	SRI SRI CIRCLE TO DISTRICT INTEGRATED COLLECTORATE (KHAMMAM) ON LHS ON NH365BB	KHAMMAM	REGULAR	160	OPEN	СС	30	30	900	32	12	Bidding	30	5
428	WITHIN 3KM FROM ZILLA PARISHAD SECONDARY SCHOOL, THALLAMPADU ON NH 365BB ON LHS TOWARDS SURYAPET	KHAMMAM	REGULAR	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
429	FROM JUJJULA RAO PETA VILLAGE TO NAYAKULAGUDEM VILLAGE ON LHS OF NH 365BB	KHAMMAM	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
430	FROM GANGARAM VILLAGE TO PAKALAGUDEM VILLAGE ON GURUBATLAGUDEM ROAD OF SH 265	KHAMMAM	REGULAR	100	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
431	WITHIN SATHUPALLE MUNICIPALITY LIMIT ON VEMSOOR ROAD (NOT ON NH)	KHAMMAM	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
432	WITHIN MADHIRA MUNICIPALITY LIMITS ON WYRA-MADHIRA-ILLURU ROAD	KHAMMAM	REGULAR	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
433	BETWEEN SAMBHANI NAGAR AND KOTHAGUDEM, KHAMMAM TOWN ON ALLIPURAM ROAD WITHIN KHAMMAM MUNICIPALITY	KHAMMAM	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
434	BETWEEN IT HUB CIRCLE AND SRI SRI CIRCLE ON KHAMMAM-WYRA ROAD (WITHIN KHAMMAM MUNICIPALITY LIMIT)	KHAMMAM	REGULAR	100	OPEN	СС	20	20	400	32	12	Bidding	30	5
435	FROM KHANAPURAM PRAGATHI SCHOOL TO IT HUB CIRCLE ON LHS WITHIN KHAMMAM MUNICIPALITY LIMIT	KHAMMAM	REGULAR	110	OPEN	сс	20	20	400	32	12	Bidding	30	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *		Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
436	BETWEEN KHAMMAM INSTITUTE OF TECHNOLOGY & SCIENCE COLLEGE AND MADDULAPALLY ON NH 365BB	KHAMMAM	REGULAR	150	OPEN	СС	30	30	900	32	12	Bidding	30	5
437	BETWEEN GOVERNMENT JUNIOR COLLEGE AND SRI VYSHNAVI FOODS PVT LTD (WYRA TOWN) ON NH 365BB	КНАММАМ	REGULAR	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
438	FROM MUSTIBANDA VILLAGE TO GANGARAMA VILLAGE ON LHS OF NH 365BB	KHAMMAM	REGULAR	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
439	FROM KUSUMANCHI ROAD BUS STOP TO THALLAMPADU JUNCTION (TOWARDS KHAMMAM) ON LHS OF NH 365BB	KHAMMAM	REGULAR	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
440	FROM DISTRICT INTEGRATED COLLECTORATE (KHAMMAM) TO SRI SRI CIRCLE ON LHS OF NH 365BB	KHAMMAM	REGULAR	150	OPEN	СС	30	30	900	32	12	Bidding	30	5
441	FROM RAPARTHI NAGAR BOARD CENTRE TO NTR CIRCLE ON LHS (ON KHAMMAM BYPASS ROAD) OF NH 365BB	KHAMMAM	REGULAR	150	OPEN	СС	30	30	900	32	12	Bidding	30	5
442	FROM NTR CIRCLE TO SRI SRI CIRCLE (ON KHAMMAM BYPASS ROAD) ON EITHER SIDE OF NH 365BB	КНАММАМ	REGULAR	165	OPEN	СС	30	30	900	32	12	Bidding	30	5
443	BETWEEN AREMPULA VILLAGE AND GOLLAGUDEM VILLAGE ON NH 563 (ON EITHER SIDE)	КНАММАМ	REGULAR	155	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
444	WITHIN 7 KM FROM VM BANJAR CIRCLE, VM BANJAR ON NH 30 TOWARDS KOTHAGUDEM (ON EITHER SIDE)	КНАММАМ	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
445	FROM KOTHA KUPPENKUNTLA VILLAGE TO MOTHAGUDEM VILLAGE ON NH 30 (ON EITHER SIDE)	КНАММАМ	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
446	WITHIN NELAKONDAPALLE TOWN LIMIT ON EITHER SIDE OF NH 365A	KHAMMAM	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
447	FROM RAVIGUDEM VILLAGE TO KAMEPALLI VILLAGE ON LHS OF NH 365A	MAHABUBABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
448	BETWEEN YS RAJASHEKAR REDDY STATUE CIRCLE AND NARSAMPETA CIRCLE (MAHABUBABAD TOWN) ON NH 365	MAHABUBABAD	REGULAR	150	OPEN	СС	30	30	900	32	12	Bidding	30	5
449	WITHIN 2 KM ON EITHER SIDE OF KESAMUDRAM SUB POST OFFICE ON MAHABUBABAD-KESAMUDRAM ROAD	MAHABUBABAD	REGULAR	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
450	IN MAHABUBABAD TOWN WITHIN MUNICIPALITY LIMIT (NOT ON NH)	MAHABUBABAD	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
451	FROM PEDDANAGARAM VILLAGE TO MARRIPEDA TOWN ON LHS OF NH 563	MAHABUBABAD	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
452	ON NH 563, WITHIN 5 KM ON EITHER SIDE OF AMBEDKAR STATUE, DANTHALAPALLE VILLAGE & MANDAL	MAHABUBABAD	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
453	FROM MULUGU CITY TOWARDS ETURNAGARAM WITHIN 5 KM ON LHS OF NH 163	MULUGU	REGULAR	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
454	IN ETURNAGARAM VILLAGE & MANDAL (NOT ON NH)	MULUGU	REGULAR	100	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
455	FROM MALLAMPALLE JUNCTION TOWARDS NARSAMPET WITHIN 3 KM ON NH 365 (ON EITHER SIDE)	MULUGU	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
456	FROM KATANGUR VILLAGE TO NALGONDA TOWN ON EITHER SIDE OF NH 565	NALGONDA	REGULAR	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *		Diemnsio of site (in S			be arranged plicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
457	WITHIN 10 KM FROM CHECK POST 14TH MILE TOWARDS NALGONDA ON EITHER SIDE OF NH 565	NALGONDA	REGULAR	166	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
458	WITHIN 5 KM FROM KNM DEGREE COLLEGE JUNCTION TO KRISHNAPURAM VILLAGE ON RHS OF SH 2	NALGONDA	REGULAR	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
459	FROM INTERSECTION OF OLD NH 9 WITH NH 65 TO TELANGANA BORDER ON LHS OF NH 65	NALGONDA	REGULAR	310	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
460	FROM NARKETPALLE TOWN TO PAMANAGUNDLA VILLAGE ON EITHER SIDE OF NH 65	NALGONDA	REGULAR	160	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
461	WITHIN 5 KM FROM TELANGANA BORDER ON LHS OF MIRYALAGUDA VADAPALLE HIGHWAY (SH 2)	NALGONDA	REGULAR	170	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
462	FROM VENKATAMPETA GATE TO MALLEPALLI CIRCLE, KONDAMALLEPALLY ON NAGARJUNA SAGAR ROAD (SH 19)	NALGONDA	REGULAR	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
463	WITHIN 10 KM FROM NARKETPALLE TO NALGONDA ON EITHER SIDE OF HYDERABAD ROAD (SH 2)	NALGONDA	REGULAR	130	OPEN	СС	35	35	1225	32	12	Bidding	30	5
464	FROM GUMPULA VILLAGE TO MUNAGALA VILLAGE ON LHS OF NH 65	NALGONDA	REGULAR	170	OBC	сс	35	35	1225	32	12	Bidding	30	4
465	FROM KATANGUR POLICE STATION TO NARKETPALLE TOWN ON LHS OF NH 65	NALGONDA	REGULAR	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
466	WITHIN 10 KM FROM CHITYAL BUS STAND TOWARDS HYDERABAD ON LHS OF NH 65	NALGONDA	REGULAR	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
467	WITHIN 10 KM FROM MALLEPALLI JUNCTION TOWARDS NAMBHAPUR ON NH 167	NALGONDA	REGULAR	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
468	WITHIN MIRYALAGUDA MUNICIPALITY LIMIT ON MIRYALAGUDA-KODAD ROAD (NOT ON NH/SH)	NALGONDA	REGULAR	140	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
469	WITHIN NALGONDA MUNICIPALITY LIMIT ON NALGONDA-MUNUGODU ROAD	NALGONDA	REGULAR	150	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
470	BETWEEN HUZURNAGAR TOWN AND KEETHAVARIGUDEM VILLAGE ON EITHER SIDE OF NH 167	SURYAPET	REGULAR	150	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
471	FROM EENADU OFFICE TO SURYAPET DISTRICT COURT ON LHS OF JAMMIGADDA ROAD (NOT ON NH)	SURYAPET	REGULAR	130	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
472	2 KM FROM PUNJAB NATIONAL BANK ON KUDAKUDA ROAD WITHIN SURYAPET MUNICIPALITY LIMIT	SURYAPET	REGULAR	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
473	FROM CHIVVEMLA VILLAGE TO CHENDUPATLA VILLAGE ON LHS OF NH 365BB	SURYAPET	REGULAR	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
474	FROM MADHAVARAM VILLAGE TO MUNAGALA VILLAGE ON LHS OF NH 65	SURYAPET	REGULAR	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
475	FROM KODAD TOWN TO SHANTI NAGAR VILLAGE ON EITHER SIDE OF NH 365A	SURYAPET	REGULAR	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
476	WITHIN 5 KM FROM KODAD UNDERPASS CROSSING OF NH 65 AND NH 167 ON EITHER SIDE OF NH 167	SURYAPET	REGULAR	170	OPEN	СС	35	35	1225	32	12	Bidding	30	5
477	WITHIN 10 KM FROM UNDERPASS OF NH 365B AND NH 365BB TOWARDS KHAMMAM ON BOTH SIDES OF NH 365BB	SURYAPET	REGULAR	150	OBC	сс	35	35	1225	32	12	Bidding	30	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Area d	Diemnsio of site (in S			be arranged policant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
478	WITHIN 10 KM FROM HUZUR NAGAR POST OFFICE TO KODAD ON EITHER SIDE OF NH 167	SURYAPET	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
479	WITHIN 7 KM FROM NARSAMPET TOWN TOWARDS KHANAPUR VILLAGE ON EITHER SIDE OF NH 365	WARANGAL	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
480	FROM RAYAPARTHY VILLAGE TO NANCHARIMADUR VILLAGE ON LHS OF NH 563	WARANGAL	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
481	FROM NARSAMPET TOWN TO MUTHOJIPETA VILLAGE WITHIN 5 KM ON RHS OF NH 365	WARANGAL	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
482	FROM NEW GRAIN MARKET TO MOGILICHERLA VILLAGE, WITHIN WARANGAL MUNICIPALITY LIMIT	WARANGAL	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
483	GAVICHERLA X ROAD TO NAKKALPALLI (V) ON SHAMBUNIPET- ASHALAPALLY ROAD, WITHIN MUNICIPALITY LIMIT	WARANGAL	REGULAR	150	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
484	FROM POCHAMMA MAIDAN TO HANAMKONDA POLICE HEAD QUARTERS WITHIN WARANGAL MUNICIPALITY LIMITS	WARANGAL	REGULAR	180	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
485	ON 100 FT ROAD BETWEEN NARSAMPET ROAD TO ENUMAMULA MARKET ROAD (WITHIN MUNICIPALITY LIMIT)	WARANGAL	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
486	WITHIN 5 KM FROM KOYALAGUDEM VILLAGE UNDERPASS CROSSING TOWARDS HYDERABAD ON RHS OF NH 65	YADADRI BHUVANAGIRI	REGULAR	190	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
487	FROM GUDUR TOLL PLAZA TO AUSHAPUR VILLAGE ON EITHER SIDE OF NH 163	YADADRI BHUVANAGIRI	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
488	WITHIN 10 KM FROM BHONGIR TOWN MAIN ROAD EXIT TOWARDS JANGOAN ON LHS OF NH 163 $$	YADADRI BHUVANAGIRI	REGULAR	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
489	WITHIN 5 KM FROM KOYALAGUDEM VILLAGE UNDERPASS CROSSING TOWARDS HYDERABAD ON LHS OF NH 65	YADADRI BHUVANAGIRI	REGULAR	200	OPEN	СС	35	35	1225	32	12	Bidding	30	5
490	FROM CHOUTUPAL VILLAGE TO PANTHANGI TOLL PLAZA ON RHS OF NH 65	YADADRI BHUVANAGIRI	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
491	IN BURGAMPADU VILLAGE & MANDAL ON BHADRACHALAM - ASWARAOPETA ROAD	BHADRADRI KOTHAGUDEM	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
492	IN NEREDPALLE VILLAGE, SHAYAMPET MANDAL	HANUMAKONDA	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
493	BETWEEN POWER SUB STATION VENKATESHWARLAPALLY AND NARLAPUR BRIGDE ON METTUPALLY- NARLAPUR ROAD	HANUMAKONDA	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
494	IN MUPPARAM VILLAGE, DHARMASAGAR MANDAL	HANUMAKONDA	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
495	IN MALLAREDDYPALLE VILLAGE, HASANPARTHY MANDAL	HANUMAKONDA	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
496	IN DAMERA VILLAGE, ELKATHURTHY MANDAL	HANUMAKONDA	RURAL	70	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
497	3 KM FROM BAVUPETA CROSS ROAD ON NH 563 JUNCTION TO BAVUPETA (NOT ON NH)	HANUMAKONDA	RURAL	60	OBC CC 1	DC	30	25	750	16	35	Draw of Lots	5	3
498	IN DAMERA VILLAGE & MANDAL	HANUMAKONDA	RURAL	60	sc	CFS	30	25	750	0	0	Draw of Lots	0	2

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Diemnsion (in M) / Area of site (in Sq M)*			Finance to be arranged by applicant		Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
499	IN MARRIPALLIGUDEM VILLAGE, KAMALAPUR MANDAL	HANUMAKONDA	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
500	IN ATHMAKUR VILLAGE & MANDAL ON ATHMAKUR TO SHAYAMPET ROAD	HANUMAKONDA	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
501	BETWEEN VENKRIYALA VILLAGE AND VELDANDA VILLAGE ON JANAGAON- VELDANDA ROAD	JANGAON	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
502	IN CHENNUR VILLAGE, PALAKURTHI MANDAL	JANGAON	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
503	IN MALKAPUR VILLAGE, CHILPUR MANDAL	JANGAON	RURAL	60	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
504	FROM PALAKURTHY VILLAGE TO DARDEPALLE VILLAGE ON VAVILALA ROAD	JANGAON	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
505	FROM CHINNAPENDYALA VILLAGE TO VENKATADRIPETA VILLAGE (IN CHILPUR MANDAL)	JANGAON	RURAL	70	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
506	IN KOLKONDA VILLAGE, DEVARUPPULA MANDAL ON DEVARUPPULA-HANAMKONDA ROAD	JANGAON	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
507	IN GARAPALLE VILLAGE, KATARAM MANDAL(NOT ON NH)	JAYASHANKAR BHUPALPALLY	RURAL	60	OPEN CC 2	DC	30	25	750	16	35	Draw of Lots	5	4
508	IN GARIMILLAPALLE VILLAGE, TEKUMATLA MANDAL	JAYASHANKAR BHUPALPALLY	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
509	IN PALMELA VILLAGE, PALIMELA MANDAL	JAYASHANKAR BHUPALPALLY	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
510	IN GORLAVEEDU VILLAGE, BHUPALPALLY MANDAL	JAYASHANKAR BHUPALPALLY	RURAL	70	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
511	IN KALESWARAM VILLAGE, MAHADEVPUR MANDAL	JAYASHANKAR BHUPALPALLY	RURAL	80	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
512	IN MUTHARAM VILLAGE, MUTHARAM MAHADEVPUR MANDAL	JAYASHANKAR BHUPALPALLY	RURAL	70	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
513	FROM SINGARENI AREA HOSPITAL TO KAKATIYA LONG WALL PROJECT ON 8 INC LINE ROAD	JAYASHANKAR BHUPALPALLY	RURAL	90	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
514	IN SURARAM VILLAGE, MAHADEVPUR MANDAL	JAYASHANKAR BHUPALPALLY	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
515	FROM 11 KV SUB STATION KOYYURU TO GANGARAM CROSS ROAD ON MANTHANI ROAD	JAYASHANKAR BHUPALPALLY	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
516	FROM PERUVANCHA VILLAGE TO MUTHAGUDEM VILLAGE ON KALLURU-TIRUVURU ROAD	КНАММАМ	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
517	FROM MADHIRA-WYRA BRIDGE, SIRIPURAM VILLAGE TO YENDAPALLI VILLAGE ON WYRA-MADHIRA ROAD	КНАММАМ	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
518	BETWEEN SEETHARAMPURAM VILLAGE AND RAGHABOINAGUDEM VILLAGE ON KHAMMAM-YELLANDU ROAD	КНАММАМ	RURAL	60	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
519	BETWEEN MANDRAJUPALLI VILLAGE AND BODULABANDA VILLAGE ON NELAKONDAPALLE - CHENNARAM ROAD	KHAMMAM	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Diemnsion (in M) / Area of site (in Sq M)*			Finance to be arranged by applicant		Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
520	BETWEEN ENKOOR- PALLIPADU CROSS ROAD AND JANNARAM VILLAGE ON PALLIPADU- ENKOOR ROAD	КНАММАМ	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
521	WITHIN 3 KM FROM BEERAPALLY VILLAGE TOWARDS KONDEGATLA VILLAGE, VEMSOOR MANDAL	КНАММАМ	RURAL	70	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
522	ON VALIGONDA -THORRUR ROAD, WITHIN 2 KM ON EITHER SIDE OF PEDDAVANGARA POLICE STATION	MAHABUBABAD	RURAL	60	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
523	BERIWADA VILLAGE, KESAMUDRAM MANDAL ON MAHABUBABAD TO KESAMUDRAM ROAD	MAHABUBABAD	RURAL	130	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
524	FROM BURGUPET VILLAGE TO SUBBAKKA PALLE VILLAGE ON ADAVIRANGAPUR ROAD	MULUGU	RURAL	80	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
525	FROM MULUGU CITY TO DEVAGIRIPATNAM VILLAGE ON MULUGU- ANNAMPALLE ROAD	MULUGU	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
526	FROM BUDDARAM VILLAGE TO KESHAVAPUR VILLAGE, ON NARSAPURAM ROAD	MULUGU	RURAL	60	ОВС	DC	30	25	750	16	35	Draw of Lots	5	3
527	IN PERUR VILLAGE, ANUMULA MANDAL	NALGONDA	RURAL	90	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
528	IN NELLIKAL VILLAGE, TIRUMALAGIRI (SAGAR) MANDAL	NALGONDA	RURAL	110	OPEN CC 1	DC	30	25	750	16	35	Draw of Lots	5	4
529	IN DUGGE PALLE VILLAGE, TRIPURARAM MANDAL	NALGONDA	RURAL	70	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
530	IN YERRABALLI VILLAGE, NIDAMANUR MANDAL	NALGONDA	RURAL	70	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
531	IN ADAVI DEVULA PALLI VILLAGE, ADAVIDEVULAPALLY MANDAL	NALGONDA	RURAL	100	OPEN CC 1	DC	30	25	750	16	35	Draw of Lots	5	4
532	FROM NALGONDA TOWN TO SURARAM VILLAGE ON NAKREKAL ROAD	NALGONDA	RURAL	70	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
533	IN DEVATH PALLI VILLAGE, NAMPALLY MANDAL	NALGONDA	RURAL	100	ОВС	DC	30	25	750	16	35	Draw of Lots	5	3
534	IN VAJINE PALLI VILLAGE, CHINTHALAPALEM (MALLAREDDYGUDEM) MANDAL	SURYAPET	RURAL	60	ОВС	DC	30	25	750	16	35	Draw of Lots	5	3
535	BETWEEN SBI DONDAPADU BRANCH AND TELENGANA BORDER ON DONDAPADU ROAD	SURYAPET	RURAL	160	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
536	IN PEDDA VEEDU VILLAGE, MATTAMPALLE MANDAL	SURYAPET	RURAL	150	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
537	IN DIRSENCHERLA VILLAGE, NEREDUCHERLA MANDAL	SURYAPET	RURAL	70	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
538	IN GADDI PALLI VILLAGE, GARIDE PALLE MANDAL ON GARIDEPALLI-SURYAPET ROAD	SURYAPET	RURAL	70	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
539	IN KOKKIRENI VILLAGE, MUNAGALA MANDAL	SURYAPET	RURAL	70	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
540	FROM SAI REDDY PALLY VILLAGE TO REDLAWADA VILLAGE ON NEKKONDA- INUGURTHY ROAD	WARANGAL	RURAL	60	ОВС	DC	30	25	750	16	35	Draw of Lots	5	3

SI.	No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Diemnsion (in M) / Area of site (in Sq M)* by applicant			Fixed Fee / Min bid amount (Rs in Lakhs)	Security			
	1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
5	41	IN UPPARPALLE VILLAGE, WARDHANNAPET MANDAL	WARANGAL	RURAL	60	OPEN	DC	30	25	750	16	35	Draw of Lots	5	4
5	42	IN PERIKAID VILLAGE, RAIPARTHY MANDAL	WARANGAL	RURAL	70	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
5	43	IN MALKA PURAM VILLAGE, TURKAPALLY MANDAL NOT ON NH/SH	YADADRI BHUVANAGIRI	RURAL	70	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
5	44	WITHIN 10 KM FROM VOLIGONDA TOWARDS TIRUMALGIRI ON EITHER SIDE OF VALIGONDA-MOTHKUR-THORRUR ROAD	YADADRI BHUVANAGIRI	RURAL	100	OBC	DC	30	25	750	16	35	Draw of Lots	5	3
5	45	IN SUDDALA VILLAGE, GUNDALA MANDAL	YADADRI BHUVANAGIRI	RURAL	70	ОВС	DC	30	25	750	16	35	Draw of Lots	5	3

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Applicati on fee in Rs.	Type of RO	Type of Site	Catego ry	Applica tion fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000	Rural	CC	OBC	4000
Regular ROs	CC	Open	10000	ROs	CC	Open	8000
	DC	OBC	5000	NOS	DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above. The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

^{*} The site should either be Owned or on lease with applicant for minimum 19 years and 11 months or Applicant should have firm offer for the same.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Territory	Districts Covered	Address	Contact No.
	Hyderabad , Rangareddy		Mr. Karthik Malaiappan
	Medchal Malkajgiri		9894756141
	Vikarabad , Mahabubnagar	Territory Coordinator (Retail),	Mr. Preetam Sengupta
Hyderabad	Wanaparthy	Bharat Petroleum Corporation	9073370039
	Nagarkurnool	Limited, P.O : HCL, Post Bag No.	
	Jogulamba Gadwal	4, Cherlapally, Hyderabad -	
	Narayanpet	500051, Telangana	
	Hanumakonda ,Warangal	Territory Coordinator (Retail),	Mr. Sagar J Toundakar
	Jayashankar Bhupalapally	Bharat Petroleum Corporation	9481322932
Warangal	Jangaon , Mahabubabad	Limited, Warangal Depot,	7676846188
vvarangar	Bhadradrikothagudem	Goods Shed Road, Warangal-	Mr. M Kishan
	Yadadri Bhuvanagiri , Nalgonda	506002, Telangana	9995765139
	Suryapet , Khammam , Mulugu		
	Nizamabad	Territory Coordinator (Retail),	Mr. Jithin George
	Kamareddy ,Rajanna Sircilla	Bharat Petroleum Corporation	9946110162
	Jagityal , Nirmal , Adilabad	Limited, 6-135/1&2, 1st Floor,	7603890775
Nizamabad	Komaram Bheem Asifabad	G.N Complex Arya Nagar,	Mr. B. Nagaraju
	Mancherial , Peddapaly	Hyderabad Road, Nizamabad-	9951410011
	Karimnagar	503230, Telangana	
	Siddipet , Medak , Sanga Reddy		